Risultati Laboratorio 10

Esercizio 10.1
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Eulero Esplicitocon N=15 1/20< 1= 1/15 < 2/20 R{) =-1/3
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Eulero Esplicito con N=40. T= 1/40 < 1/20 R{) =1/2

0.9 t
0.8F

0.7

0.5

RN

0.4

0.3

0.2

T
= sl

o 0.1 02 03 04 05 OB O0Y 08 08



Eulero Implicito
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Esercizio 10.2
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Eulero Implicito

soluzione esatta

0.5

1

0.8
0.4

0.6

0.3 0.4

0.2
0.2

0.1

1

0.8

0.6

0.4




A= -1+10i T=10
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Trapezi - Punto Medio Implicito

=10 =100 i = 1000 soluzione esatta
1 . 1 . 1 T 1 T
0.8 - 0ar
ke - 06|
0.4
- 0.4F
0.2k
L |:|2 L
0
L |:| L
0.2
- AH-02F
0.4
'I:IE [ 'I:I"'l B
i o : LB
-1 i 0.8 i -0.8 i 0.8 i
-1 ] 1 4 0 1 - o -1 1] 1
A= 1+10i T=10

Eulero Esplicito

12

i 1000
2 :

splygfone esatta
1.4

}{1[&21':' }{1@’16:1':":'
. g |




Eulero Implicito
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Esercizio 10.3
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